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( 1, 023,500 )
¢ 1504 T3 (fKkifH) 1,719, 881
( 1,023,500 ) |( 1,023,500 )
MEHE = 1 1,080, 170 1,080, 170

+T = 1 430, 269 430, 269

BT Y 1 209, 442 209, 442

( 1,107,913 )

O THAE T8 (IK4H) 2, 996, 325
( 1,022,350 ) |( 1,022, 350 )
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BT N | 442, 401 442, 401
( 57, 640 )
¢ 50ARE TH (fKfH) 517, 766
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(= = 1 63,515 63,515
( 556, 524 )

o THIE KA ZRTE T (i) 849, 463
( 556,524 ) | ( 556, 524 )

e Y 1 809, 084 809, 084

B = 1 40, 379 40, 379
( 1,595,927 )
WMAKBEASETEHE (&HE 3,319, 196
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( 1,595,927 ) |( 1,595,927 )
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BT = 1 460, 076 460, 076

o 100RERAE TH (KiE) 105, 488

+ T 1 35, 819 35, 819

BT Y 1 69, 669 69, 669

O TOIRERAE TH (44H) 1,893,574

+T = 1 949, 533 949, 533

(= = 1 944, 041 944, 041
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+T = 1 365, 970 365, 970

=T = 1 255, 173 255, 173
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= 1 29, 976 29,976

i
H

o TSAEMETE (JGH) 1, 624, 328
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o SOAREETH ([KIH) 577,676

+T = 1 557, 547 557, 547
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o T5ARE T8 (BT 1,038, 495
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